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1 1 Write your Roll Number only in the box provided alongside.
Do not write anything else on the Test Booklet.
2. This Test Booklet contains 75 items (questions). Each item comprises four responses
(answers). Choose only one response for each item which you consider the best.
3. After the candidate has read each item in the Test Booklet and decided which of the given

responses is correct or the best, he has to mark the circle containing the letter of the
selected response by blackening it completely with ball point pen as shown below. H.B.
Pencil should not be used in blackening the circle to indicate responses on the answer
sheet. In the following example, response “C” is so marked :

® ®& @ ©

4, Do the encoding carefully as given in the illustrations. While encoding your particulars
or marking the answers on answer sheet, you should blacken the circle corresponding to
the choice in full and no part of the circle should be left unfilled. You may clearly note
that since the answer sheets are to be scored/evaluated on machine, any violation of the
instructions may result in reduction of your marks for which you would yourself be responsible.

5. You have to mark all your responses ONLY on the ANSWER SHEET separately given.
Responses marked on the Test Booklet or in any paper other than the answer sheet shall
not be examined. Use ball point pen for marking responses.

6. All items carry equal marks. Attempt all items.

Ve Before you proceed to mark responses in the Answer Sheet fill in the particulars in the
front portion of the Answer Sheet as per the instructions.

8. After you have completed the test, hand over OMR Answer Sheet to the Invigilator.

9. In case of any discrepancy found in English and Hindi Version in this paper, the English

Version may be treated as correct and final.
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PUBLIC ADMINISTRATION
Paper III

Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This paper contains seventy five (75) multiple choice questions, each ques-

tion carries fwo (2) marks. Attempt All of them.

1 Organisation in the narrow sense, means :
(A) Defining rules ; (B) Designing the structure
(C) Running the Govt. (D) Staffing
2. Scientific Management theory considered‘main motivator for workers :
(A) The power (B) The prestige
(C) The money (D) Self-development
3. Weber’s theoretical construct does not include :

(A) Division of labour
(B) Written documents
(C) Distinction between office and its incumbent

(D) Analysis of the behaviour of officials

T.B.C. : 47/13/ET—III 2
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1. H7T & gai gfesor F opef ¥ .

(A) =®FE F Sfafyg (B) WFY TR A

(C) W&FR Fam o (D) %8 T A oA FaH ST
2. émmuém.%ﬁzhﬁﬂﬁgﬁﬁmm%:

(A) wife (B) wfasar

(C) =7 D) =E =1 fawm
3.  F (Weber) & fogia # wifter & ¥ .

(A) w1 = faume

(B) fofem fagi

(C) APy a91 s9 wfds § 92

(D) AfY=TiEl & =JERR +1 godisa

T.B.C. : 47/13/ET—III 3 ' 2RO,



4, Major defects of the working of bureaucracy :
(1) Red Tapism
(2) Inflexibility
(3) Specialisation
(4) Unresponsiveness
Choose the correct code :
(A) (1), (2) and (3)
(B) (1), (2) and (4)
(C) (1), (3) and (4)

(D) (2), (3) and (4)

5. Behavioural approach is not used in discipline like :
(A) Political Science
(B) Economics
(C) Physics and Chemistry
(D) Sociology and Psychology
6. Name the person who did not make any significant contribution to the

behavioural approach ?
(A) C.L. Moreno (B) Kurt Levin

(C) Relley (D) Chris Argyris
T.B.C. : 47113/ET—III 4



4.  AFETE F IHE Y T
(1) oS RrASTE
(2) SR
(8) =y (fafirieo)
(4) AGIREAYIEr
L CC T (E D
(A) (1), (2) @91 (3)
(B) (1), (2) T (4)
(o) (1),'(3) aqm (4)
D) (2), (3) 741 (4)
5. Toul sEemers gfesior &1 w&@m 98 dar ¥ 2
(A) TSHIfoemS
(B) sievmes
(©) i o qen TEE fasm
(D) HHSEIE a9 "AifaqH
6. 39 AR w1 99 =aRy fSGuw aeraet faga § wgfaa dem w@ ¥
(A) drue. HifE (B) =d afad

(C) = (D) fwa ariefg
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10.

11.

T.B.C.

The theoretical principle of ‘Unity of Command’ can be applied best in :
(A) All the organisations

(B) Unit functional organisations

(C) Multifunctional organisations

(D) None of the above

Urwick identified certain principles of administration applicable to all

organisations. They numbered :
(A) 10 (B) 11 ‘
(C) 8 (D) 9

Who argued “management is true science, resting on fixed rules and

principles” ?

(A) Taylor : (B) Riggs

(C) Fayol (D) Max Weber

In USA first Govt. Corporation was established in the year :
(A) 1903 (B) 1918

(C) 1835 (D) 1901

Who coined the acronym POSDCORB ?

(A) Gulick and Urwick (B) Urwick
(C) Gulick (D) Henry Fayol
: 47/13/ET—III 6



7. 'eIQw ® UwA' & fEsi@ @ wEww w@m fm ¥ o
(A) |9 A |
(B) Unit functional ST &
(C) Multifunctional ¥maa §
(D) 3wF § ¥ = T8
8. Sfdw % wergd & fagil # SEw F ¥ fwer swd wsht §ed § g &
(A) 10 (B) 1 |
© s : D) 9
g, mﬁ'w%%“uémwﬁmw%vﬁmamﬁﬂwﬁm%” ?
(A) TR (B) fog
(C) whard (D) He9 Fa
10. EgF U AR § veen wEH AW s er 9
(A) 1903 # | (B) 1918 #
(C) 1835 H (D) 1901 #
11. f%®9 POSDCORB I feg1 a1 ?
(A) T @en Sfdw (B) 3ff=

(C) e (D) & B
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13.

[.B.C.

Which of the following statements are correct about Publi

Administration ?

(1) It is the management of affairs of Govt.

(2) It is the non-political bureaucratic machinery of Govt.

(3) It operates within a political context
(4) It i$ the action part of Govt.

Select the correct code :

(A) (1) and (2)

(B) (1), (2) and (3)

(C) (2), (3) and (4)

(D) (1), (2),(3) and (4)

Who said, “Administration has to do things done with the accomplishment

of defined objectives” ?

(A} Henry Fayol (B) Woodrow Wilson
(C) Luther Gulick (D) Lyndall Urwick
: 471 3/ET—III 8



12. ﬁmm%dﬁﬁﬁaﬂﬂﬁmmuﬁ%?
(1) 9% THRI HET F Fo6uq
2) %@Wﬁmmmw%
(3) I TSfas AR § w1 Ha ¥
(4) =& THI FE H glar ¥
& w2 g
(A.) (1) 3R (2)
(B) - (1), (2) 3R (3)
(C) (2), (3) 3R (4)
D) (1), (2), (3) 3R (4)
3. mﬁmmﬁﬁ“wwﬁﬁaﬁﬁmﬁﬁﬁmﬁmww%”?
(A) T BEE (B) T faewm

(C) ;W Tfers (D) fovss fE=
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14.  Who among the following thinkers do not make a distinction between Publi

and Private Administration ?
(1) Henry Fayol
(2) L. Urwick
(3)  Simon
(4) M.P. Follett
Select the correct code :
(A) (1) and (2)
(B) (2) and (3) -
(C) (2), (é) and (4)
(,D) (1), (2) and (4)
5.  Arrange the following administrative thinkers in the chronological order :
(1) Chester Barnard
(2)  M.P. Follett
(3)  Robert Dahl
(4) F.W. Riggs
(5) Willoughby
(A) (2) (5) 3) (4 (1)
(B) (2) (5) (1) (3) (4)
(C) (5) (1) (2) (4) (3)

(D) (5) (2) 1) (3 (4)
B.C. : 47/13/ET—III 10
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frafafeg § @ frey o wores a9 ot w8 9 9 ' 2

(1) T BI=A

(2) uw. 3w

(3) wEHA

(4) THG. W

. TE

(A) (1) 3R (2)

(B) (2) 3 (3)

(©) (2), (3) 3R (4)

D) (1), (2) 3R 4

ot fasl B FEag HI9
(1) =I= g9 |

(2) UH.GL W

(38) U« =T'A

(4) THT=] fow

(5) foeimt

Aa @ 6 3 @ @
@) 2 G @O 6 @
©c B GO @ @ @

D) @) (2) 1 @ @
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16. Who among the following does not belong to ‘New Human Relations’

approach ?
(A) Chris Argyris (B) Elton Mayo
(C) Rensis Likert (D) Warren Bennis

17. Which of the following are not the distinctive features of Public Choice

Theory ?

(1) Institutional .pluralism

(2) Administrative egoism

(3) Bureaucratic administration
(4) Monocentric administration
(6) Democratic administration
Select tl'?e correct code :

(A) (3) and (4)

(B) (2) and (4)

(C) (1) and (5)

(D) (2), (3) and (4)
[.B.C. : 47/13/ET—III 12



16} PR # & e de New Human Relations’ fegia & 7 ¥, 7
(A) fwm spfsfm (B) Teed #A1
(C) Mwg fomw . (D) =1A Afr
17. frafefad § @ SR Public Choice Theory’ w1 fagroard =& & ?
(1) HEHEF Fgerdl
(2) wTEAF EFR
3) HArFETE e
(@) i
(5) YSTA=% wImEA
& I 9T .
(A) (3) 3R (4)
(B) (2) 3R (4)
€ (v aﬁt(s)
(D) (2), (3) 3R (4)
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18.  According to Riggs which one is not the feature of Prismatic Society 71

) |
(A) Polycommunalism (B) Formalism 1

(C) Polynormativism. (D) Nepotism
19. The feature of NPA includes :

(1) Client Focussed Administration

(2) Post-positivism

(3) Debt'lreaucratisation

(4) Domocratic decigion-making

(5) Decentralization -

Select the correct code :

(A) (1), (3) and (4)

(B) (2), (3) and (5)

(C) (M), @), @3), (4) and (5)

(D) (1), (2) and (3)

T.B.C. : 47/13/ET—III 14



18 U9 % #ER #H ‘Prismatic Society’ 1 foadiomn & ¥ ?
(A) el (B) widferH
(C) e : (D) - TSETg
19. ‘NPA’ =1 favioar § :
(1) Client Focussed T
(2) Post-positivism
(3) Debureauératisai;ion (3TirRTeEr)
(4) wmmﬁvh-r
(5) fa=zm
T SW gHa
(A (D), (3) ¥R 4)
(B) (2), (3)a?rr('5)

C) (1), 2), 3), 4) IR (5)

D) (1), (2) 3 (3)

T.B.C. : 47/13/ET—III ' 15 P.T.O.



20. Match List I with List IT and select the correct answer using the codes given

below : | \
List I 4 . List 11

(@) Principles of Organisation (1) Willoughby

(b) Creative Experience (2) Henry Fayol

(¢) Papers 6n the Science of . (3) Mooney and Relley

Adxﬁinistr;tion

(d) Industrial and General (4) Gulick and Urwick
Management

Codes :

@ ® © @
@ @, @O @ @
® @ @ @ @
© @ @ @, @

O @, @, @, @

T.B.C. : 47/13/ET—III 16



20. A I & g I ¥ freret W@ S SaRy

et I
(@ ETeA & fogia
(b) Creative Experience

) WA % fagm ‘CR‘%@
(d) - siehfs atm*mm PELE]
HE

@ B © @
A (3), (;), (2), (4)
(B) (3), D, @, (@)

@ @, @ @, W

D @, @), @, @

T.B.C. : 47/13/ET—III
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21.  Match List I with List II and select the correct answer from the codes given

below :

List I . List II
(@) Satisficing (1) Riggs
(b) Zone of Indifference (2) Simon
(e) dJob enric}_xment (3) Taylor
(d) Equigenetic (4) Bernard

(5) Herzberg

Codes :

(a) &) (o) (d)

A @), @, &), Q)

B) @), @, @, @

© @), @, @), (@O

D)y @), @), ) (@

T.B.C. : 47/13/ET—III 18



21.

‘ m :
@ - ®
@ @, @,
® @, @,
© @
D @, @)
: 47/13/ET—III1

T.B.C.

gt 1 % g 11 ¥ oo @ @ Tany

gt 1

(@) Satisficing

(b) Zone of Indifference

(c) Job enrichment

(d) Equigenetie

(e)

(5),

(4),

(2),

(),

(d)

(1)

(3)

(1)

(2)

19

oo I
1 fo=
(2) @A
(3) TR
(4), TS

(5) TS
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22.  Match List I with List II and select the correct answer from the codes given

below :
List I List II
(@) Bounded Rationality (1) Dror
" (b) Incremental Model ‘ (2) Etzioni
(¢c) Mixed Scanning Model - (3) Simon
(d) Optimal Model (4) Lindblom
Codes : |

(a) ) () (d).
Ay b, @, @) @
B M @ @, @
€ @, @, @ @
M @), @, @), @
23.  Good research ethics méans -

(A) Not disclosing holding of shares and stock in a company that

sponsors your research

(B) Assigning a particular research problem to one Ph.D./Research

student only
(C) Discussing with your colleagues confidential data of research

(D) Submitting the same research manuscript for publishing in more

than one journal

T.B.C. : 47/13/ET—III 20



22. g I w1 gt I ¥ fram @@ $e Ry

(@)

(b)

(c)

(d)

et 1

Bounded Rationality

Incremental Model

Mixed Scanning Model

Optimal Model

HE

(A)
(B)
(C)

(D)

(a)

(4),

(1),

(2),

(3),

(b)
(D),
@),
@),

(4),

(e)

(3),

(3),
(4),

(2),

(d).

@)

(4)

(1)

(1)

(1)

. (@

(3)

4)

93. 3= WY H ‘ethics’ (Afawar) =1 219 ¥

gt 11
B

(A) fg woF 3 vy & fou oer G & s =i a9 I & SHERT

q

(B) TF Wiu-frem wF @ viuwd # R W

(C) Iy HT 9" AEHRT 39 A 1 Famn

(D) UH & WY TN (research manuscript) F T&F ¥ fes SHa §

T.B.C. : 47/13/ET—III
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24. Which of the following sampling mgthods is based on probability ?
(A) Convenience sampling (B) Quota sampling
(C) Judgement sampling (D) Stratified sampling
25. Bibliogr.aphy given in a research report :
(A) Shows vast knowledge of researcher
(B) Helps those interested in further research
(C) Has no relevance to research
(D) All of the above
26. Books and records are the primary sources of data in :
(A) Historical research (B) Participatofy research
(C) Clinical research (D) Laboratory research
27. The depth of any research can be judged by :
(A) Title of the research
(B) Objectives of the research

(C) Total expenditure on the research

(D) Duration of the research

T.B.C. : 47/13/ET—III 22



o4 @yt dwfe fafu ‘probability’ T IHRE € ?

(A) Convenience sampling (B) Quota sampling

(C) Judgement sampling (D) Stratified sampling
95. iy frdd # ‘Bibliography’ :

(A) Yhusdat & Feg I H WO

(B) o ¥y # Weg w ®

(C) Wy H wam FE HEw T

(D) I7gF |t
i'\'.‘.26. mﬁammﬁﬁaﬁ$mﬂﬁ;ﬁ‘éﬂﬂ§:

(A) Ufcefas Ny H (B) Participatory ¥4 H

() Clinical ¥ & | (D) Laboratory ¥ #
o7,  fadt st vy W TECE AT SR ¥

(A) Wy & efea |

(B) ¥y % = A

(C) g & | @A W

(D) iy & g W

TR - A7TNURTITT 23 P.T.O.



28. The tension theory has been suggested by :
(A) Luther Gulick (B) Terry
(C) Cleve.land (D) Seckler Hudson
29.  The principle of supervision is inherent in the principle of .:
(A) Span of control . (B) Coordination
(C) Hierarchy (D) Unity of command

30. Who of the following distinguishes between substantive supervision and

technical supervision ?

(A) Williamson . (B) Halsey

(C) Millet ' (D) Seckler Hudson
31. Taylorism took shape as “Stakhanovite” movement in :

(A) USA (B) USSR

(C) France (D) Germany

32. "Who of the following has criticised bureaucracy as “an organisation that

* can’t correct its behaviour by learning from its errors” ?
(A) Thomas Carlyle (B) R.K. Merton
(C) H.A. Simon (D) M. Cozier
33. Weber’s analysis of bureaucracy was from :
(A) Political perspective (B) Sociological perspective
(C) Economic perspective (D) vCultural perspective

I'.B.C. : 47/13/ET—III 24



28. ‘'Zvm faga' femr mm oo

(A) TR i g1 (B) & gm
(C) FeAtaerve grI D) JRR TSEFT N
29, mmm@mﬁﬁa%ﬁngmmﬁ:
(A) F=m #1 &9 (B) dreRe
(C) HEEHE (D) SRY F THA
30. ﬁmﬁ substantive supervision 991 technical supervision ¥ ¥g =am@T ¥ ?
(A) fafemmas (B) &9
(C) faere - : (D) ¥HeR BSHA

3l. R % f&gid I Stakhanovite (V@HETE) emﬂmammé%m a1
(A) HgFa g afEn | (B) I.TE.UE.3MW. H
(C) w9 # (D) < #
32. Tr=fafea # fea S $t sreea 351 “Bure.aucracy is an organisation

that can’t correct its behaviour by learning from its errors.”

(A) umHE Hrelsd (B) & WA
(C) wa.T WEF (D) . s

33. 9= H Akw@mE w1 favewy e o ¥ o
(A) TsHfow afEw & (B) wmifss wfEw
(C) fa<ig ufaw & D) wiEfaw of@w &

T.B.C. : 47/13/ET—III 25 | P.T.O.



34. Rationality is the basis of :
(1) Charismatic Authority
(2) Traditional Authority
(3) Legal Authority
(4) Rule Orientation
Select the correct code :
(A) (1) and (3)
(B) (2) and (3)
(C) Only (3)
(D) (3) and (4)

35. - The Human Relation theory focussed on the :
(1) Physiological factor
(2) Social factor
(3) Economic factor
(4) Psychological factor
Select the correct code :
(A) (1) and (2)
(B) (2) and (3)
(C) (2) and (4)

D) (2), (3) and (4)
T.B.C. : 47/13/ET—III . 26



34. TRIfTHGT AHR ¥
(1) =ReaE sfusr &=
(2) TERI aqfim{ Ea
(3) I AHFR
(4) fogit<® w3m &
& W g .
(A) (1) 3R (3)
(B) (2) 3R (3)
(C) =ad (3)
(D) (3) 3R (4)

35. WA §ey & faga #fzq ¥ .
1) fow FRF W
(2) wHISH FRF N
(3) onfdw FRF W
(4) HAETITS FRE W
/& W g
(A) (1) 3R (2)
(B) (2) &R (3)
(©) (2) 3R (4)

D) (2), (3) 3R 4)
T.B.C. : 47/13/ET—III 27 P.T.O.



36. System approach is also known as :
(A) Contingency theory (B) Integrated theory
(C) Ecological theory (D) Modern theory
37. The most.dominant thir-lker in the field of -admim'strative thought is :
(A) Henry Fayol " (B) Herbert éimon
(C) Max Weber (D) F.W. Riggs
38. The greatest resistance of ‘Seientific Management’ came from :
(A) Human Relatior;ists (B) Worker
(C) Managers | (D) Trade Union

39. The first administrative thinker to give a meaningful analysis of decision-

making process is :
(A) H. Simon (B) H. Fayol
(C) F.W. Taylor (D) C.I. Barnard

40. Which of the following is correctly matched ?

- (A) Simon — Mixed Scanning
(B) Dror —  Optimal Model
(C) Lindbloom —  Behaviour Alternative Model
(D) Etzioni — * Incremental Model

T.B.C. : 47/13/ET—III 28



36.

37.

38.

39.

40.

TB.C

ey fag (System Approach) F SFI SR ¥

(A) Contingency theory (B) Integrated theory
(C) Ecological theory (D) Modern theory
ot o B TR e e ¥

(A) &0 HAA (B) ®Ee WEHA

(C) ¥ as (D) Ths=y o™
afrr wEeE' H Ged g9l e €

(A) WW@W.W (B) #ffh

(C) TSR (WEHEF) (D) < g

weer weTERe @ fSET ‘Decision making Process’ 1 fagemoneTs A
ﬁv‘ql, % : |

(A) T HEEA (B) ©H. ®A
(C) TH.T=. <N (D) HI.emE. F=98

frefafeg § § @& 89 IR

(A) TR —  fowe =W
(B) ¥R | _ e Afsd
(C) fevssH — fagfam seecifes Afsa
(D) s=SgH —  TEiHea HiEd

. 47/13/ET—III 29 P.T.O.



41. Essence of communication is :
(A) Transmitting information
(B) Sharing information
(C) Imparting knowledge
(D) Sharing understanding
42. The term ‘self-actualisation’ was first coined by :
(A) Abraham Maslow (B) Kurt Goldstein
(C) McGregor ) (D) Herzberg
43. The ‘Trait 'fheory’ of leadership was advocated by :
(1) Millet
(2) Bernard
(3) Likert
(4) Follett
" (5) Ordway Tead
(6) Terry
Select the correct answer from the given codes :
A) (1) (@2 () and (6)
B) 2 @G @ and (6)
() 1) (2 @ and ()

M 1) (2 and @)
T.B.C. : 47/13/ET—III 30



41. TER w1 3 T
(A) I F HER
(B) HEA1 & HEH-UH
(© wm W
(D) Understanding %! share &l
42. ‘Self-actualisation’ &1 ¥AN .- ggeil ar fwax fomam en ‘?
(A) =TaIEH A& (B) &2 TeewH
() TR | (D) wfent
43. A9 HI ‘Trait Theory’ fFwa & «f ?
(1) e
(2) =HE
(3) fa=e
(4) TR
(5) 3mEa e
6)
T2 T3 #e ¥ wd s g

A 1 (2 &) ¥R (6)

B) 2 (3 @ ¥R (6
© @O @ @ I (B
M) (1) (@ R @

T.B.C. : 47/13/ET—III 31
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44.  Which of the following theories of leadership is based on Expectancy theory

of Motivation ?
(A) Three-dimensional Model (B) Life Cycle Model
(C) Path Goal Model $ (D) Decision Participation Model

45.  Which of the following pairs is not correctly matched ?

(A) Herzberg —  Job enrichment

(B) McGregor —  Scalon Plan

(C‘) Alderfer . - —  Critical Incident Method
(D) Maslow —  Psychoanalysis

46. The Parliamentary Commissions for administration was appointed in

the U.K. in :
(A) 1957 - (B) 1959
(C) 1967 x (D) 1968

47  The Committee which recommended the Ombudsman type of institution in

India .was :

(A) Gorwala Committee
(B) Santhanam Committee
(C) K.riplani Committee

(D) Administrative Reform Commission

T.B.C. : 47/13/ET—III 32



44, 39F (Leadership) &1 ®M-¥1 fagia afuion (motivation) F expectancy ED
fag | smuifa @ 3
(A) fa-smardt dis | (B) % HiEfeha Afsd
(C) WY Ta AlsH (D) fedism wEifaieH Afsd

45. Frefafes & | #id et @@ T8 g 2

(A) wster — Job enrichment

(B) WA —  Scalon Plan

(C) 3TesT: —  Critical Incident Method
(D) FE= - Psychoanalysis

46. oz # wemEs & few §@e™ 3@ (Parliamentary Commissions) g g

q

(A) 1957 ® - (B) 1959 #
(C) 1967 d (D) 1968 H

47. FEF f5E1 9Rd # ‘Ombudsman’ S Heenr &1 fawifer #, 4t -
(A) TiRETen HHE
(B) T9g&H FHeI
(C) Twyam HH

(D) wTEfE FUR 3E
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48.  Judicial control over administration emanates from the doctrine of :
(A) Separation of powers (B) Judicial review
(C) Rule of Law (D) Delegated Legislation

49. The first country in the World to introduce the Right to Information

was :
(A) Norway (B) USA
\
(C) Sweden ’ (D) Finland
50. Central Vigilance Commission was set up on the recommendation of :
(A) ARC of India (B) Gorwala Report
(C) Kriplani Committee (D) Santhanam Committee
51. The most effective means of citizens’ control over administration is :
(A) Election (B) Pressure Group
(C) Advisory Comn'.xittee (D) Public Opinion

-

52. Which of writs is not specifically provided in the Constitution of India ?
(A) - Prohibition (B) Mandamus

(C) Quo Warranto (D) Injunction
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48, wuTER R =taE faem fee fagic ¥ WA w2
(A) wfe &1 GUFERIEHL (B) =HIfges qAUEEleh
(c) fafy =1 fam (D) TENRE Ay

49, WER 1 wEel 2w foEy gEWM & U & an fE, o

(A) (B) g T AR
(C) wred (D) fweve
s0. St W SN W AR = famfer T N a |
(A) FeTETR GUR STE (B) Tiramen frdre
(C) Twuar wuel (D) HgEH HAS!

51. TG AN P # ged o ale € ol

(A) IT= (B) <= IH

(C) TaEHFR FHI (D) S@al @& {E (Public Opinion)
50, fm afam 3 wda Srwm # o= W ¥ 2

(A) Prohibition (B) Mandamus

(C) Quo Warranto (D) Injunction
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53.

54.

55.

56.

The least effective means of executive control over administration is :

(A) Executive legislation (B) Budgetary system

(C) Staff Agencies ' (D) Appeal to Public Opinion

No confidence motion to be admitted in the Lok Sabha needs the support

of :
(A) 80 members . (B) 140 members.
(C) 160 members (D) 50 members

Which Article of Indian Constitution deals with the suability of the States

of India ?
(A) Art. 100 (B) Art. 200
(C) Art. 300 (D) Art. 330

Who had called Panchayat as a ‘little republic’ ?

(A) Gabriel Almond (B) J.M. Gaus

(C) Sir Charles Metcalfe (D) Peter Self
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53.

54.

55.

56.

quTER T FREOTeE & fEe w ged ween &g ® o

(A) Executive legislation (B) Budgetary system

(C) Staff Agencies . (D) Appeal to Public Opinion

mamﬁmﬁmﬁwﬁﬁmmﬁmaﬁmﬁm

T ?
(A) 80 ¥H (B) 140 €<H4

(C) 160 H&H (D) 50 WeH
mmﬁmaﬁﬁﬂww’%vﬁmabwwmmm% ?
(A) 3TT=< 100 (B) 3TT=% 200

(C) ¥R 300 V(D) T8 330

fFay Y9Ed & ‘9 U &el o 7

(A) Ifegs sETE (B) SL.UA. T

(C) T e FIF (D) b= Ao
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58.

59.

60.

61.

Lok Ayukta and Uplokayukta was first appointed in :

(A) Maharashtra (B) West Bengal

(C) Karnataka | (D) Odisha

Municipal Corporations in U.Ts. are set up by :

(A) President (B) Governor

(C) Parliament ~ (D) " None of these

Village Panchayat is accountable to the :

(A) éram Sabha‘ . (B) Panchayat Samiti

(C) Zila Parishad (D) Chairman of Zila Parishad
J awahar Gram Samridhi Yojna (JGSY) is implemented at the level of :
(A) Distt. Panchayat (B) Panchayat Samiti

(C) Village Panchayat (D) Nagar Panchayat

" The importance of bureaucracy has greatly increased in the current era on

account of :

(A) The emergence of Democracy

(B) The emergence of a Welfaré State
(C)- The emergence of Police State

(D) None of the above
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57.

58.

59.

60.

61.

G s A -G S A R T fee R w2

(A) T (B) 1. &

(C) THARH (D) aAfsem

(A) “Treafa | (B) TS

(C) | (D) T & FE T
R tETE fEEe Wa SeeE ¥ ? |

(A) TH | : (B) damEd @fufd
(C) faen uftog (D) foren wfteg w1 =ECH
ST WE Ty A fRe R R @] g ¥ 7

(A) fen =& (B) demEd HHfd
(C) - THErEd ' (D) R TEEd
S ® TR 99HM g0 H 9% T ¥, O

(A) TG <hl 3ATTHA

(B) weamiERl T (Welfare State) T ST

(C) diferd TS9 &1 AMHA

(D) Wﬁ‘@aﬁg?ﬁ
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62.

63.

Civil servants play an important role in the formulation of policy by :
(A) Supplying necessary information

(B) Tendering necessary advice to ministers and other executives

(C) Both (A) and (B)

(D) None of the above

What important role does the bureaucracy play in the field of legislation ?
(A) Preparing most of the bills

(B) Formulating rules and regulation

(C) Controlling the finances

64.

TR.C.

(D) Both (A) and (B)

Bureaucracy plays an important role in the economic development of the

country through :

(A) Determining the general goal of the development
(B) Playing a leading role in resource survey

(C) Planning and executing of various plans

(D) All the above functions
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62. fafae daF s s § weege gfve e €
(A) @E (SE0) I WEH Fh
(B) T wen sfuEE @ HEvEE WEE I
(C) =F (A) 3R (B)
(D) 3vdFa § | ®E TR
63. wmﬁmmmwwﬁw%?
(A) afuwﬁaaw
(B) Tram-srrA el
(C) f W FEET WS
(D) T (A) R (B)
64 2w 3 fa e § g e yfew e g o7
(A) fowmm & S F @
(B) @A EI&U (Resource Survey) H Teeaqu i FaE
(C) maﬁaﬁrﬂmaﬂra%mm

(D) IUEE | FE H OHC
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65.

66.

67.

68.

Who said that under the Parliamentary system of Govt., bureaucracy thrives

under the cloak of ministerial responsibility ?

(A) Herman Finer (B) Laski

(C) Ramsay Muir g (D) None of these

Which of the following classes emerged as a result of British Colonialism ?
(A) Zamindars (B) Intellectuals

(C) Share Croppers (D) All of these

Development bureaueracy is very much different from traditional

bureaucracy as :

(A) It is less rigid in structure as behaviourally more flexible
(B) It consists of more specialists

(C) It ensures uniformity and co-ordination

(D) None of the above

Indian bureaucratic system functic.)ns on pattern of :

(A) The American System

(B) The Chinese System

(C) The British System

(D) The Japanese System
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65. f¥ay ®@ o1 f& T@dd §&R H ‘bureaucracy thrives under the cloak of

ministerial responsibility’ ?
(A) T FER (B) TEh
(C) TR =R ‘ D) T ¥ = of T
66. Wmﬁwmmmaﬁmm%?
(A) HRER = (B) dfgHr =
(C) ¥& W (D) 3 |l
67 T A TemE e § e E
(A) 7 aEe § w9 FOR #R wmmen # @l ¥
(B) 3w fadom @gd B €
(C) T9H THUE ad wHEE €
(D) wwEE § A F:E o T
68. uﬂ?ﬁu#\wvétﬁwm%:
(A) @afa faed 9
(B) =t fowem &
) foa & fama &

(D) v & foem 9
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69.

70.

2 ¥

72.

Who opined “Bureaucracy helps in attaining the highest degree of

efficiency” ?

(A) Weber (B) Vilfredo Pareto
(C). Laski > (D) Gladden
Bureaucracy in the modern state enjoys :

(A) Traditional Authority | (B) Rational Legal Authority
(C) Charismatic Authority (D) Both (A) and (C)
The EU (European Union) organization consists of :

(A) European Commission and a Council of Ministers

(B) European Parliament

(C) Court of Justice

(D) All of the above

Globalization implies :

(A) Single unified world market

(B) Financial market system is centred in a single state
(C) Geographical location of a firm is of utmost importance

(D) Foreign capitalist transaction
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69. TFw®l @ T % “Bureaucracy helps in attaining the highest degree of

efficiency” ?
(A) T (B) faeher o
© e o
70, agfE TG H NEWE B OUE ¥ o
(A) TTIUTE VIR (B) I wifsk
(C) wigHE afF : (D) T (A) 3R (C)
1. fe gt e e R
(A) FAfem FHeA qu Fwa e At
(B) q&ﬁwm
(C) =& i e (=)
(D) S7dE |l
72.  yEUSHE H Y ¥
(A) TER H TH THIFA AR
(B)ﬁ?ﬁ'ﬂwmaﬁrwmﬁﬁw
©) Frt o wd =t sinifer fem @ e

(D) foosh oz 1 ARH-9IH
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73. The MNCs are criticised for :
(A) Environmental degradation
(B) Maldistribution of Global resources
(C) Social disintegration
(D) All of the above

74. Who among the following is credited with formulating welfare economic as

o«

the social choice theory ?

(A) Amartya Sen (B) Bimall Jalan

(C) KN. Raj (D) Msnmebnn Singh
75. The modern State has expanded its activities, becauée :

(A) Men have bacome idle

(B) The social structure has become complex

(C) The problems are wider in scope and complex in nature

(D) The states are interdependent.
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73. MNCs F1 = a6 ¢ o
(A) SEE # ogfm 3§ g
(B) el fEd % e weER $ e
(C) wmfss fawe & foag
(D) =Tgx |l & fag
.‘ 74. mﬁmwmﬁgdvm.amamﬁﬁaﬁwmﬁmma%?
(A) FHAE T (B) fawa S
(C) H.TH. TS (D) wEEa o
75. mgﬁmw%mﬁagﬂﬁ%,aﬁﬁ:
A) @ gD A TR
(B) TR @t Sifewt @ T ¥
(C)Wﬂa@nﬁ%aﬁwgﬁﬁaﬁaawﬂ%

(D) m@—@mmmaﬁnﬁ%
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